HERINZ / Components

No. &% / Part name #= / Pcs #'8E / Material - REAEE / Color:Finish
1 RV kARIL 1 7 LR A1100P YWIN=F AL, 73997 b4+
* :lAE(i{E:%:O)%FﬁI:EE "J ﬁ(‘fféiﬂ‘o Front panel Aluminium A1100P Silver anodized , Black anodized
* Adhesive rubber feet in cluded. 2 T 133 1 7 JLE4R AT100P YN =TI, T 5997 LA
Rear panel Aluminium A1100P Silver anodized , Black anodized
3 YARTL—L4 2 TIVSIRHI# A6063S-T5 TU-BE TIvBE
Side frame Extruded aluminium A6063S-T5 Gray painted , Black painted
4 JAVRIL—L 2 TILSIRHA AB063S-T5 VAV & PUL: &3
Front frame Extruded aluminium A6063S-T5 Gray painted , Black painted
5 YF7IL—L 2 7L A A6063S-T5 YN =TLIAE
Rear frame Extruded aluminium A6063S-T5 Silver anodized
6 EH/8—/ Top cover 1 £lfl4x SPCC / Steel SPCC AN L-FEE | 7'59)FE / Light gray painted , Black painted
13 7 T /73— / Bottom cover 1 #M#R SPCC / Steel SPCC AN V- | 7599 FEE / Light gray painted , Black painted
< 8 a—r—Javy 2 TILEA LR ADC12 TL-BE TR E
S Corner block Diecast aluminium ADC12 Gray painted , Black painted
> 5 |UF7a—k 2 HIRIEABSHITE (UL94V-0 EHi5) U799
% Rear feet Flame-resistant ABS UL94V-0 Gray , Black
> 10 3 L2 / Rubber feet RYr9L 4> / Polyurethane 7°79%9 / Black
g 1 | EAER(MA X6 43) % ={fignA-t
15 Screw (M4 - 6 Countersunk) Steel Trivalent chromate
12 H{TE R (M4 x 8 FX) 8 % =ffiyni-+
Screw (M4 - 8 Pan head) Steel Trivalent chromate
13 BAHE X (M4 x 10 7131 UR) 4 % =@EIni-+
Screw (M4 - 10 Binding head) Steel Black trivalent chromate
14 AN ES 1 RILE—: ABS TV=, 7799
JUvT, Fevd TSR — U=, 7399
Carrying handle Holder : ABS Gray , Black
Grip , Blind cap : Elastomer Gray , Black
15 HTE R (M4 x 14 FR) 2 # =ffiyni-+
Screw (M4 - 14 Pan head) Steel Trivalent chromate
16 EEF Vb / Slide nut 2 RUIFLY , EbwS / PE, Brass 7599, =y Av% / Black , Nickel plated

* NORRFIIEEDMNEICEETEET .

* Carrying handle location can be freely affixed within denoted range.

B7U=HILT—% / Technical Datall

HXFMHFIE / Carrying handle Maximum load : 20kgf T /Title
BRAHANTFERTE SNURREMS RF L —Z =
@,‘tt*% (EI—_JEEE%D) 7 Color type (End of product number1) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. DESKTOP ENCLOSURE with CARRYING HANDLE R Soale
i85 / Code JIN%JL / Panel ETH/N\— / Top - Bottom cover | HAKTL—.L / Side frame | /N\>KEXZFE / Carrying handle 72/ Approved 1% B/ Checked [ /Created FIZ/Product number >
GS < )LsN— / Silver SAk45L— / Light gray 4'L— / Gray J'L— / Gray MSY133-32-45[1
B IS4 / Black J5v%4 / Black J59% / Black J59% / Black iR F ES2 o) .8
BS 2 )LsR— / Silver 7594 / Black J5v% / Black 75974 / Black {EM. B /Date 2023/08/24




g B-B(1:55)
o L il 2
N S
T 5
©
x
©
=
1)72L—1s1 / Rear framel +Tq
T T 35 A-A(1:55) 175 1@ C-C(1:55)
C C
9 4 g
4 I B3N Tk / Max dim. 425 AR TE / Max dim. 299
290 JAVRIL—L1 / Front framel Y7L —12 / Rear frame2
450 320 11
B B
A 1975
————————————— 3
=
N
i) | : —
<
A .
HARTL—L1 / Side framel 293 HAFIL—L2 / Side frame2 290
AV hIL—L2 / Front frame2
| |
i =
w4/ Title
206 TAKACHI) #XEHANFEHIE NURBEMSRT L —2 O]
TAKACHI ELECTRONICS ENCLOSURE CO,, LTD. DESKTOP ENCLOSURE with CARRYING HANDLE _
(| SB/Approved | #2E/Checked | #.K/Created | ZU%/Product number RE/Scale
© MSY133-32-4501 1:55
Q iR E3 (320 9 /8
1ERLH /Date 2020/03/09




082 ks8%)L / Front panel

H~ti% / Max dim. 116.5

7
*

Sl

1)J7 /54 J)L / Rear panel

HE~T% / Max dim. 116

H#~T% / Max dim. 290

R / Front side

A#h~ti% / Max dim. 290

R / Front side

REE—MA

Surface protective film side

1225

% / Back side

2 298.5

REE—MA

Surface protective film side

1223

ZEE / Back side

R4/ Title
AR YT IR

BREUINTFEMTE

o]

TAKACHI ELECTRONICS ENCLOSURE CO., LTD Front panel B Rear panel
SB/Approved | #2E/Checked | #.K/Created | ZU%/Product number RE/Scale
H133 - W320 1:25
iR £ it 3/ 8
{ERL B /Date 2020/03/09




4175
2-@35 4-@45 2-4.2
2-M4
202l / Front side S S @
- : — o T}
5 15 2
35 3375

B2 M| / Front side

=B =
11

=K T =

HARKIL—L1 / Side framel

H AR —L12 / Side frame2

4/ Title
BRKHINTFERTE %iju— I O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Side frame
2 /Approved #&[X/Checked X /Created FIF /Product number RE/Scale
H133 - D450 14
iR e L2 0) 48

{ER B /Date 2020/03/09




30

293

re) o)
(¢ L9
283
re) o)
< (9]

R4

20

2-M4FHSR

2-M4 Countersunk

Fo!
\o

TRV IL—LI1 / Front framel

Ol
O

A2 kI —12 / Front frame2

[TAKACHI) #t&itshFBHTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

7R/ Approved

R

%[/ Checked

T

R/ Created

A

am/Title
JAVRIL—L @ G
Front frame _

1% /Product number RE/Scale
W320 1:25

1ERLH/Date 2020/03/09 57/ 8




301 5.5

20

M4
1J7 7L —1s1 / Rear framel
% I I
|
5] f |
1J77L—1.2 / Rear frame2
. Mm%/ Title
TAKACHI| #AKHINTFEHIE YFIL—L @ G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Rear frame
#2/Approved #R[X/Checked #[X/Created 1% /Product number RE/Scale
W320 1:2.5
iR ES e
WM Date  2020/03/09 678




6.75

15

4195

p—

289.5

316.5

QIR

A% / Max dim. 299

R4.5

H#hti% / Max dim. 387.5

12

234

60

35

6.5

w4/ Title
B R IHFERTE e o]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Top cover
7R/ Approved #&[X/Checked X /Created FIF /Product number REE/Scale
W320 - D450 13
iR e E3Z o 7/ 8
1R B /Date 2020/03/09




6.75

15

4195

pum—

289.5

316.5

R4.5

H$~ti% / Max dim. 387.5

7
%

ol

A% / Max dim. 299

12

6.5

[TAKACHI) #t&itshFBHTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

G/ Title
Thi—

Bottom cover

o]

7R/ Approved

iR

X/ Checked

T

X /Created

A

FIF /Product number

W320 - D450

RE/Scale
1:3

{ERL B /Date 2020/03/09






